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System ldentification of Brush DC Motors

Student : Chang-Ching Wu Adviser : Dr. Fu-Ching Lee

Institute of Electrical and Control Engineering

National Chiao-Tung University

ABSTRACT

The purpose of this thesis is to.utilize the least-square estimation method to find out
the optimal transfer function of a brush DC motor system efficiently. So that we
can simplify the measure process without losing the accurate result as much as
possible while designing the controller of the motor system. We actually measure
the transfer function of the brush DC motor system (SANYO DENKI
U718T-012ELS8) via laboratory apparatus, and compare with the transfer function
from the least-square estimation method. Finally, we can verify the feasibility of the

method in this article and discuss its advantages and disadvantages.
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34 335) RS Hy kA el R 8 EHE T A R0 i (4r B 3.3-1 3
B 3.3-5) - /¥ B 3.3-1 T B 3.3-5 7 1 & R Ao ipl I S By H LA (kes

£ Sty D 6 R o

21



%331 BEE TR 2 Vo,(t)=(-3)sin(2nft)+(-6) pF > & 47 F #7 iz i

den _«iﬁi@?] Id iR SRS likey 2 H ) 7 k8 R-square iE o
Hz Bdmr TR Bt g §5(Y) R-square
2 | Vo, (t)=(-3)sin(4nt)-6 y=(-99. 5)sin(4nx)-219.5 | 0.9906

5 | Vo,(t)=(-3)sin(10nt)-6 y=(-86)sin(10mx)-221 0.9832

10 | Vo,(t)=(-3)sin(20mt)-6 §=(-T1)sin(20mx)-217 0.9802

20 | Vo,(t)=(-3)sin(40nt)-6 y=(-45)sin(40mx)-217 0.9579

40 | Vo,(£)=(-3)sin(80nt)-6 | §=(-22.5)sin(80mx)-217.5 | 0.9236

50 | Vo,(£)=(-3)sin(100nt)-6 | §=(-16.5)sin(100mx)-215.5 | 0.8862

3 332 5 fﬁea] » 7 R Vo, (=D sin(2rnft)+(=T) pF » & #F F 47 i

A en g éﬁ%] d iR G HLaliey 2 H 2] 2 % #ic R-square & o
Hz Bidgmr TR R 51’ i 2 EH(Y) R-square
2 Vo,(t)=(-4)sin(4nt)-T7 y=(-138.5)sin(4nx)-254.5 | 0.9971

5 | Vo,(t)=(-4)sin(10mt)-7 y=(-120)sin(10mx)-255 0.9911

10 | Vo,(t)=(-4)sin(20mt)-7 | §=(-93.5)sin(20mx)-254.5 | 0.9932

20 | Vo,(t)=(-4)sin(40nt)-7 y=(-56)sin(40mx)-255 0.99

40 | Vo,(t)=(-4)sin(80nt)-7 | §=(-26.5)sin(80mx)-254.5 | 0.9424

50 | Vo,(1)=(-4)sin(100mt)-7 | §=(-20.5)sin(100nx)-253.5 | 0.9852
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3 333 5§ ‘ﬂi"l r» m B E Vo, (1)=(-5)sin(2rft)+(-8) pF » & #F F #7 ip

Benf R R LSy 2 B 2L Tk R-square &
Hz Bk > RREE A R(Y) R-square

2 | Vo,(t)=(-5)sin(4nt)-8 | §=(-174.5)sin(4nx)-290.5 | 0.9951

5 | Vo,(t)=(-5)sin(10nt)-8 y=(-152)sin(10mx)-294 0.9891

10 | Vo,(t)=(-5)sin(20mnt)-8 y=(-118)sin(20mx)-290 0.9934

20 | Vo,(t)=(-5)sin(40nt)-8 | §=(-67.5)sin(40nx)-288.5 | 0.9894

40 | Vo,(t)=(-5)sin(80xnt)-8 y=(-32)sin(80mx)-290 0.9395

50 | Vo,(t)=(-5)sin(100nt)-8 | §=(-22.5)sin(100mx)-287.5 | 0.942

3 334 5 fﬁea] » 7 R 5V0,(0=(=6)sin(2nft)+(-9) pF » & #F F #7 % i

dren g ﬁg‘] ViR LSy 2 H ) 7 ik ¥k R-square & o

Hz B TR 5 Bk g G 5(Y) R-square
2 | Vo,(t)=(-6)sin(4nt)-9 §=(-210)sin(4nx)-326 0.9979

5 | Vo,(t)=(-6)sin(10nt)-9 y=(-182)sin(10mx)-328 0.9936

10 | Vo,(t)=(-6)sin(20wt)-9 | §=(-140.5)sin(20mx)-327.5 | 0.9844

20 | Vo,(t)=(-6)sin(40nt)-9 y=(-86. 5)sin(40mx)-325.5 | 0.9749

40 | Vo,(t)=(-6)sin(80nt)-9 | §=(-39.5)sin(80nx)-327.5 0.963

50 | Vo,(t)=(-6)sin(100mt)-9 y=(-28)sin(100mx)-328 0.9464
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%335 Badwm» LEEHEVo,(D=(-Dsin2rfO+(-1T)FF > EH I 7

Bl A en g _@éﬁl Mg Sy 2 H 2 7tk ¥k R-square & o

Hz B~ TERE 5 B £ 5u(y) R-square

2 | Vo,(t)=(-3)sin(4nt)-17 y=(-114)sin(4nx)-616 0.9915

5 | Vo,(t)=(-3)sin(10mt)-17 | §=(-95.5)sin(10nx)-616.5 | 0.9938

10 | Vo.(t)=(-3)sin(20mt)-17 y=(-75)sin(20mx)-619 0.9893

20 | Vo,(t)=(-3)sin(40nt)-17 §=(-47)sin(40mx)-620 0.9725

40 | Vo,(£)=(-3)sin(80nt)-17 | ¥=(-20.5)sin(80mx)-616.5 | 0.995

50 | Vo,(t)=(-3)sin(100nt)-17 | §=(-16.5)sin(100nx)-616.5 | 0.9585
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2Hz

120 + output
— sine curve fitting

-140|

-160

-180

-200|

RPM

-220|

-240

-260

-280

-300

-320

| | | | | |
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

5Hz

RPM

Il Il Il Il Il Il
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

10Hz
-140F w

+ output
— sine curve fitting

-180 ] g

-1601-

RPM
N
IN]
=]
L

-2601

g0k . . i

L L L L L L L L L
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

B 3.3-1 & _@ﬂi@?l » 2 R EEH Vo, (1)=(-3)sin(2rnft)+(-6) pF » & 4 F #7 iz ipl

(ESELEE T S ET SRS P E LR DAY R



20Hz

-170- -« output

—sine curve fitting

-1801-

-190f

-200

-210

RPM

-220|

-230]

240

-2501

—

-260

L L L L L L L L L L
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

40Hz

+ output
—sine curve fitting

iy
©
o1
T

-240F

RPM
N NN NN NN N
[N} @ N NP B o o
a o [= BN )] o o =)
T

L L L L L

| | | | | |
5 10 15 20 25 30 35 40 45 50
Time(7.14ms)

50Hz

+ output
—sine curve fitting

-205(

-210|

-215|

RPM

-220|

-225-

-2301

L L L L L L L L L L
5 10 15 20 25 30 35 40 45 50
Time(7.14ms)

®33-1 8w » TEE V0, (D)=(=3)sin(ZrnfO+(-6) pF > &4 F 75 7]

|

D id

[N

Dk GRSy fr R B E B TR KB - (F)

"

=
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2Hz

T
-+ output
—sine curve fitting

-150

-250

RPM

-300

-350

-400c L L L L L L L L L I
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

5Hz

RPM

L L L L L L
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

10Hz

-160 « output
— sine curve fitting

-180- R

-2001- N

-220 b

RPM

-260)| N

-280 M

-3201-

-3401 \ b

| |
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

=
4

®33-2 8w r LEEIEVo,(D=(-Dsin(2rft)+(=T)F > &4 5 #

Neng gy g TRy ol § 8 B §ELL ) R -



20Hz

T
-200F | * output
—sine curve fitting
-220( b
-240 b
=
o
X 260 1
-280- N
-300
| | | | | | | | | |
10 20 30 40 50 60 70 80 90 100

Time(7.14ms)

40Hz

T
+ output
-2301 A — sine curve fitting

2351

-240}

-245( I N
-250 E
-255 -
-260 i
-265 . 7]
-270H -
275} I -
-280- | A A \ a

0 45 50

RPM

. . . . . . . .
5 10 15 20 25 30 35 4
Time(7.14ms)

50Hz
-230 T

- output
-235 —sine curve fitting

-240j

-245

-250

RPM

-255

-260[

-270

-275¢ ! | | ! ! ! ! [

| |
5 10 15 20 25 30 35 40 45 50
Time(7.14ms)

B 3.3-2 & sifﬂia?] r» R EH Vo, (1)=(-D)sin(2rft)+(-T)pF » &4 F o7 iz ipl

|

D id

[N

Dk GRSy fr R B E B TR KB - (F)

"

=
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2Hz

+ output
—sine curve fitting

RPM

L L L L L L L L L L
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

5Hz

RPM

L L L L L
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

10Hz
T
-+ output

— sine curve fitting

-200(- B

-250 i
=
o

@ -300 q

-3501
-400- B
L L L L L L L L L

L
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

B 3.3-3 & _@ﬂi@?l r» 2 R EH Vo, (1)=(-5)sin(2rnft)+(-8) pF » & 4F F #7 iz ipl

Neng gy g TRy ol § 8 B §ELL ) R -
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20Hz

T
-2201 | - output
— sine curve fitting
-240F E
-260)| b
-280 b
=
o
74
-300| b
-3201 B
-3401
'3607 | | | | | | | | | |
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)
40Hz
T
- output
2y . A A . | — sine curve fitting
-270F
-280
E -290
o
-300|
-310f L
-3201
L L L L L L L L L L
5 10 15 20 25 30 35 40 45 50
Time(7.14ms)
50Hz
T
-265- ) ' ' « output
—sine curve fitting
-270|
-275
-280|
s -285|
o
& 290
-295
-3001
-305(-
-3101-
| | | | | | | | | |
5 10 15 20 25 30 35 40 45 50

Time(7.14ms)

®33-3 & » TEEVo,(D=(-D)sin(2rft)+(-=8)p » E 4 F 75 7l

g gy g C RSy ol B8 2 §ELLA) R - (W)
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2Hz

-+ output
— sine curve fitting

-150

-250

-300

RPM

-350

-400|

-450

-500

-550t I I I |

L L L L L In)
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

5Hz

RPM

L L L L L L
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

10Hz
|
- output

-2001 — sine curve fitting

-2501 1 E

-300 4
=
a
@

-350[ N

400/

-450 B

L L L L L L L L L L
10 20 30 40 50 60 70 80 90 100

Time(7.14ms)

®33-4 & r TEE V0, (£)=(-6)sin(2rft)+(=9) pF > & 4 F 471

[N

SHBL By e R F 8 @ RLA A R

e
“a\
&
(4
=
e
&
(=
<
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20Hz

-240+ + output
— sine curve fitting

-2601 i
-280 i
-300 i
-320 i
-340| i
360/ *
-3801

-4001-

_420 Il Il Il Il Il Il Il
10 20 30 40 50 60 70 100

Time(7.14ms)

RPM

40Hz
T T T
2001 output

—sine curve flmng

-300F

-310f

-320 i
-330 |
-340) |
-350F g
-360( g

RPM

-370 I I I | I | | T
5 10 15 20 25 30 35
Time(7.14ms)
50Hz
T
-3001 « output
— sine curve fitting
-310j-
-320
=
o
@ -330
-340r1
-3501
L L L L L L L L L L
5 10 15 20 25 30 S5) 40 45 50

Time(7.14ms)
B 3.3-4 5 é@?} » 2 R EHVo,(1)=(-6)sin(2rft)+(-9) pF > & 4 F #7 iz ipl

D id

L«

i cE OB ;@ty'fr? #5 R R ELA B o ()

-qn

=

32



2Hz

-500

+ output
—sine curve fitting

-550

-600

RPM

-650

-700

L L L L L L
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)

5Hz

+ output
— sine curve fitting

RPM

-720= I L L L L L L I I H
10 20 30 40 50 60 70 80 90 100
Time(7.14ms)
10Hz
T
-540- . - output
— sine curve fitting
-560 B
-580 B
-600| B
z
& -620 q
-6401- . ’ 5
-660
-680- B
-700= I | | | | | | | | H
10 20 30 40 50 60 70 80 90 100

Time(7.14ms)

#1335 Sdwmr LEEHEVo,(D=(-IDsin2rft)+(-1T) > EH I 7

CEESELEEEEL EESEE REL ST VEE R
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20Hz

+ output
—sine curve fitting

o (4

o] ~

o o
T T

-590-

-600|

-610|

-620

RPM
(o2}
(]
2
T | | | I I

-640-

-650-

-660-

-670 | | ) | | | | | | | n|

10 20 30 40 50 60 70 80 90 100
Time(7.14ms)
40Hz
-595[ ‘

« output
—sine curve fitting

-600(

-6051

-610

-615 i
-620 J
-625( g
630 g
635 g

L L L L L L
5! 10 15 20 25 30 35 40 45 50
Time(7.14ms)

RPM

50Hz
T
+ output
—sine curve fitting
=
o
4
Il Il Il Il Il Il Il Il Il Il
5 10 15 20 25 30 35 40 45 50

Time(7.14ms)

#1335 5t TEEIVo,(1)=(-3)sin(2rft)+(-1T) P > EHF 7 h

GRS Y SRR R RS FEE N ORE Y
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34 B A RAKBE ES I

F_k

S5 A R RS R~ TR (V)
] |

RO B D DR G R H ) sl T 2

i1 (RPM) eig # & B

4Bl 34-1 407 o B d > TR G BN Q) # Y k=123455 5 £

Hid 2B Ar (12) > 45 A w5 0.1Hz 3 100Hz -

Vo, (t)=A,sin(2nft)+B,

Brush DC Motor

y = asin(2nfx) + b

»
»

B 3.4-1 #3005 B foiy 1 0

’lli‘-j\:?%%,f éjb‘:l ’ l\[Z]

#en g E ki

1_4.
YU

G, Gw)| = — (13)
k
H
w = 2rnf (rad/sec) (14)
BE

(dB),, = 201og,, [G,(Gw)| (dB) (15)
PR Ak - KER 9T 3 A en(dB), B o £ #-(dB), ¥ S TR 0 2

POIE R EREA R 0 BT A W R A k=1.2.3.45 B2 4L < 0] B o
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d B2 F322 87 w0 AP R LAY B EH BB RT L E CH2
GRS L P LN S AVIOGE S ETRE S SIS 3 =T
FRA BB 0 82§ 7 dv0 &8 R AR N S RRT 0 5 R

B fed s %34 > 1% 2148 oo Visual Basic #4255 7% > = rR-fEd e G w

AR e SRl Rl T e~ TR BLIL A fro g T OSLA A R
18] Pt Mk - KET o & B3 AR oy g R A Y
PR RBEELA LR E > LR FOIES TEH > A SRR R
¥ 4 bl xS k=1.2.3.4.5 pFz_ A qiAp T w e

B 3.4-2 5 AR %E g fl 8 kst iBla ¥ ik 1€ B (Bode Plot) » o

AALB T AT E }i Pl A ’fuﬁﬂ » ?@(V)"i‘]‘%} A1 4 3@ (RPM) e #5502
H(s) = 3.3 (16)
(1-+————)(1-+ - 50)
_ 36. 3 (17)

S S
1+ —)A+ ————
( 50.2655)( 314.1593)

WEE i B 7T & 8HZ fr 50HZ -

LSS TE S S

573226. 8869
H(s)= — (18)
s® + 364. 4248s + 15791, 3743
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Bode Diagram

3
2
2

(gp) spnuubep
(Bap) aseyd

Frequency (rad/sec)

PR

ll"’
i

%
AN

1
——

Tl

i

-+
=R

i 3.4-2
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Fr¥ FHEBEREVCR
BARE? 2 AREJIH BT RRLE RPFE AT R FRY BT
IS S S S et Sl 5 R T % M- RS0 S B S BT IR D )
HEF pstenighpot oo - B % = R 2T R RIS WEF st
A B A i o
d A BRI SR TREB- R UOR AU AT SRR G AL AT g
WA k&7 2R Rh i 41 89 orh Lande ] T3 R

L E T A s SRR A [4] -

411 ML A 3 RN

H - )‘ ?V'E ﬁ%a] 2 (SISO) rr!%p‘_,s(/ ) '&F@ 4.1-1 b

U(k) Linear Discrete Y(k)
System

B/ 4.1-1 E—ﬁ%»frﬁ—ﬁ%:’: (SISO) erndgdr 4 bt

BNBFRILA S ART A AT

yk) +ayk -1 + - +ayk —n)

(19)
= bou(k) + bju(k = 1) + --- + bu(k — n)
.
v + Y ay — D = Y butk - ) (20)

38



Aoy Bk syt u Lk sy 0 kLR

a,+a, ~ by~ by b, Ak g

vk = yk -1

(=1

—n

Al@h) =1l+aq*+a,q’+-+ag
Bla™) =b, +bqt +bg®+-+bq”
PI3 420 (19)F £ 71 2 T G 250

At@™Hyk)= B(q Huk)

BEAPHES NP Z-dE o P R AR R S F

y(k) =uk).=0 -k <0

QL+az’ +a,z’+-+az ")V 2)
= (b, + bz' +byz? + - + b z"U(z)

Hoe z B Z-EdE o

Flp A SR AL TR S

H(z) =

Y(z) by+bz'+bz?+ - +bz"

39

U(Z) 1 + alz_l + azz_z + - + anz_n

(21)

(22)

(23)

(24)

(25)

(26)

(27)



4.1.2 B/ X3 B pliE

YR G 4 Sehicg N

yk) +ayk -D + - +ayk —n)

(28)
= buk — 1) + - + bu(k — m)
By Bk gy o u Bk gy~ 0 k R
al an ~ bl bm 1‘?1—'\,:“5 ,“‘fbéﬁ%jigi °
o 42N (28) 4 5
y(k) — _aly(k -1 - = any(k -n) + blu(k -+ -+ me(k —m)
o
aIl
=[-yk-D - —-y&=n uk=D - uk -m] )
1
_bm_
Bk
Yo = [y@® y@ - yO]' (30)
' |
ok) =| (31)
o' (k) |
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%ﬁ?&@lé‘f’lﬂj;\l z
Y = @0 (32)

2PV E % ‘?fuﬁﬁ%ﬂ: w0 DE: e AT e E @ ORE AT & P

ﬁ"’]’l" [R5 RES {#5 =% 9}13 % 7 ‘é’“ﬂ’""l‘a B3] e ﬁ;f]ﬂ ¥ B lﬁ},&?

S L R L E R S Ui R = JEE S S e

PO = - Y (70D - 70)° (39

27y A7 7 R 2] oy A () R Ay Bk 2 B st AT I8 B ey
dE e
AL T
e = y() -y = y@ - ¢' (1) 6 (34)
] 28 (33)F B &

2

iy o tppol
K&b-—zgau)—zEE_sz (35)

E=Y-Y=Y-d6 (36)
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B 0% x

\\?{r

& > 425 (33) 5]

0F(6,k)

00 ‘e=é =0
0F@0, k) 0
= T\eze = 3 e{ (Y — ®0)"(Y - @9)}\
10 ot At Ty v _
=5 89[(Y - 0" O - ©8)]],, = 0

0 = (O"D) DY (37)

4.2 B T RlE O
421 %> 5

A 2= F 0 140 e B Ry o PR S A B 5 1HZ 2 10Hz 2 &=

D]

RO afyr BEr TR A NS g £y D41 S0] T2 F R
i KA P % 4 50 hE nd A5 i (SANYO DENKI U718T-012ELS) -
BT GRiFEEE K S~ TR FAT AT
u(t) = Vo, () ‘HHZ + Vo, (D) ‘HOHZ
= A, sin(2nt) + A, sin(20mt) + B, + B, (38)
Hoek=123455k,=1.2345-

R BT A MR e Bt e s SOLE S BT A0

42



#Bé‘: o

d 2 AR EE)T A B T BRI A H M 2 B AR RT A Sk

=k, frk, 2k, d falFime 2 A bk =k, ik, 2k, AH T L EH e B(X

AMI)ERL s IERC] T BRIFE 2 ek .?fuﬁ;f\] I %f;frﬁ%l TR o
422 B G RIEE LRI

EREFZFEIMGFRMEE AR BRSETEN B AT - B 2R
FPER o5 NP g K deT[5] -

Y(z) _ bz +b,
U(z) 7 +az+a,

H(z) =

29 V() Ak esndiy 0y U(2) i ueny -
a, >~ a, > b, ~ b, LA Frin il iz PlE e
S 4238 (39)F 4 it i 4o T
A +az" +a,2 )2 = (bz" + bz HU(z)
R OIS %S SR 1

vk +ayk - + a,yk — 2) = butk - D + buk — 2)
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(39)

(40)

(41)



¥ o %i;\‘ (41) =~ 7T r-»

y(k) = —ay(k -1 —a,yk — 2) + buk =1 + b,u(k — 2)
o
a2
=[-v&k-D -yk-2 uk -1 uk-2)] )
b, |
=¢'0 (42)

Bk #4201 & SrE B2 B g ke - ol TR K O 2 250 (42)9 4
1 y(K) e eniE » B F B T A xS 425 30)3L) ¢ 0 7 £ # V() Ie

(k) i&a BAEL 1% Y(k) fn®k) Talp et (8 ~ ] T 3 ZRlIFE % (37)

R
%
aZ
0 =
by
_b2_
ERE G P SEGREL FT RE AR oGRSl R EF
3 R 1L S BRI L B 8 B Bl

ARG T -H N gtk R-square B R o Bofs ORI a0k S A Sl d
ABrE F % Seenl AU B v i o

4.2.3 HAg & R

AFAY S ;T* s 4258 (38) ¢ k, =k, frk, 2k, d R T 4 iR R o
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1. %k, =k,
(1) k,=k,=2

U(t) = Voz(t) ‘f:le + Voz(t) ‘leOHz

= A, sin(2nt) + A, sin(20nt) + B, + B,
= (-4) sin(2nt) + (-4) sin(207t) + (-14)

s B I IR O o - T Nial

a, | [ -1.0108]

a, ~0. 3097
e: =

b, 19.5373

b, [ -31.1615 ]

g ety DA e B R ol A AR 42-1 47T 0 LR BAe ] 4.2-2 47

(2) k,=k,=3

u(t) = Vo,(t) ‘f:le + Vo, (1) ‘leOHz
= A, sin(2nt) + A, sin(20nt) + B, + B,
= (-5) sin(2nt) + (-5) sin(20nt) + (-16)

Bl T2 GRIEE i 2R RE

a, 0. 7746 |

a, -0. 5834
e: =

b, 24. 9569

b, | [-37.9760

AR ety DA e B R by LA e W] 4.2-3 41 0 LR BAe ] 4.2-4 49
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(3) k,=k,=4

u(t) = Vo, (1) ‘f:le + Vo, (1) ‘leOHz
= A, sin(2nt) + A, sin(20nt) + B, + B,
= (-6) sin(2nt) + (-6) sin(20mt) + (-18)

Bl T2 GRIEE G 2R RE

a, [ -1.1906 |

a, -0. 1562
e: =

b, 15. 9889

b, | [-28.4907]

H %s”f%imﬁ%] NAA R R mﬁg’l A5 4e B 4.2-5 75 0 LA Bl B 4.2-6 roT o

(4) k,=k,=5

u(t) = Vog(t) ‘leHz + Vo, (D) ‘leOHz
= A, sin(2nt) + A; sin(20wt) + B, + B,
= (=3) sin(2nt) + (-3) sin(20%t) + (-34)

N B I IR O % - T Niaa

a, - —0.8767]

a, -0. 5483
e: =

b, 21. 4491

b, | [-36.9193
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(-5)sin(2%pi*t)+(-5)sin(20%pi*t)-16
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(-6)sin(2%pi*t)+(-6)sin(20%pi*t)-18
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(-3)sin(2%pi*t)+(-3)sin(20%pi*t)-34
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2. %k #k, P>

(1) k,=2> k,=3

u(t) = Vo,(0) |,y + V0,0 |;ion,
= A, sin(2nt) + A, sin(20nt) + B, + B,
= (-4) sin(2nt) + (-5) sin(20mt) + (-15)
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3) k, =3 k,=4

u(t) = Vo, () ‘f:le + Vo, (D) ‘leOHz
= A, sin(2nt) + A, sin(20mt) + B, + B,
= (-5) sin(2nt) + (-6) sin(207t) + (-17)
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(-4)sin(2*%pi*t)+(-5)sin(20*pi*t)-15
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(-5)sin(2%pi*t)+(-4)sin(20%pi*t)-15
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(-5)sin(2*pi*t)+(-6)sin(20%pi*t)-17
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(-6)sin(2%pi*t)+(-5)sin(20%pi*t)-17
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